=
o
N

N dcr/dlog(l/xp)

1072

1073

1074

Ratio to DELPHI

=
o

91 GeV ee y*/Z (Hadronic)
[— I I I I I I I I 2]
| | | £
= Ln(Momentum Fraction) =3
— 1=
— —<
B N
N
= ES
— -
- 140
- 4o
=
1 EN
= ELE)
= — M
= <
— _|m™M
B o
o
.: m
_ 4 =
=" m  DELPHI 52
— /--3-- Herwig 7.0.3 default s
— ¢ —a— Pythia 8.301 default 15
= ¢ Sherpa 2.1.1 default =<
~ v Vincia 1.1.00_8.176 default 35
| 1w
B 15
o
L 19
—| | | | | | | | | | | ER
:l T T T | T T T | T T :
2 & —2
05+ —0.5
| ] 1 1 1 | 1 1 1 | 1 1
0 2 4



	Contents
	Page 1


